Command Dictionary -- HEIGHT

AR

HEIght (n) = [*£] h [/WAVe]
Sets the level of the waterplane using the distance (i.e. freeboard) from a critical point,
optionally relative to the point's current height.
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HEIght (n) varname /ACCESS [/WAVe]
Accesses the current height of a critical point into the named variable.
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HEIght (n)
Displays the current height of a critical point.
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S8
(n)

The number of an existing critical point (see the CRTPT command).
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The distance of the nth critical point to the waterplane in a direction perpendicular to
the waterplane not including wave height. The freeboard relative to this point. Since it
is a measurement perpendicular to the waterplane, the critical point height is valid
even at extreme trim and heel angles (See the DEPTH and DRAFT commands).
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/WAVE
Includes any wave effect in point heights; by default, waves are not included.
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varname
The name of the variable (declared by the VARIABLES command) accessing height.
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/ACCESS
Accesses a Critical Point's height without changing the waterplane level.
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Operation
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Command Dictionary -- HEIGHT

The HEIGHT command can be used to set the waterplane level by entering the
distance measured from a defined critical point. Alternatively, it may be set relative
to its current value using the form *+h.
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The depth is set, holding heel and trim constant. Only the HEIGHT, DEPTH or DRAFT
commands can change the depth if it is fixed (see the FIX command).
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Changing depth upsets weight/displacement equilibrium, which can be restored by
changing the weight, such as by issuing a SOLVE WEIGHT command.
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The current height of the nt" critical point relative to the waterplane can be displayed
by using either HEIGHT (n) or the STATUS CRTPT command.
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Output
i

The current critical point height is displayed to the screen by HEIGHT (n).
PRAERIR n SOk R

Nondisplay Output:
Tok i 2R

none.

x

Examples

FBl

Defining the waterplane with given trim and heel such that the 2nd critical point is 4.5
feet above the water:

TEFR B MPBAI R, 2 UK E, 15 2 58T B/KiLL L 4.5:
HEEL 1.5p

TRIM 1.0f
HEIGHT(2) 4.5

Setting the depth so the height of the 2nd critical point is increased by one foot:
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ESCOKHIALE, 1T 2 5 508 bR B /K = B I0 1.
HEIGHT(2) *+1
Accessing the height of the 2nd Critical Point:
WY 2 SR K s A
VARIABLE CRTHT
HEIGHT(2) CRTHT /ACCESS
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